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K % U15BaFERES | R EHEEP | 2EBIERT
1| =47 84 1 3248.8 1
2| F1ZE 2 4837.6 2
3| KE 4 1836.8 3
4| K48 DKEB 4 555.2 4
5| RKR &E 8 3100.8 5
6| E =X 8 1258.4 6
7121 BEX 8 1011.2 7
8|s 18 8 780.8 8
9IRA Ek 16 1084.8 9
10{ EH BX 16 787.2 10
11|50 &= 16 556.8 11
12|FR X— 16 499.2 12
13|/EE 25 16 428.8 13
14| A8 BHK 16 326.4 14
15| Eht sk 16 283.6 15
16()1| BRIE 16 240.8 16
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K % U15BaFERES | R EHEEP | 2EiBIERT
1Pk E4E 1 2782 1
2| K78 HBAR 2 1629.2 2
3|4t =22 4 3836.4 3
4| BB 4 819.2 4
5|58 Hik 8 2626 5
6|k 19 8 907.2 6
7|HEE R 8 569.6 7
8| R 8 353.6 8
IHER & 16 544.8 9
10{E HBI1E 16 372 10
11{7)Il &2z 16 300.8 11
12K & 16 291.2 12
13[ LB K 16 286.4 13
l4|&k 2+ 16 274.8 14
15\ ME EMf 16 220.5 15
16[3RkA BE 16 205.7 16
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K41 K42 U1sBIFERE | £ EHEEEP (2 mitmIEf:
A fE (=57 B4 1 3395.2 1
2RR&EE |BN B 2 6112 2
3|hE B | RES 4 5068.8 3
AR B | EHBX 4 2483.2 4
51118 18 T A& 8 2745.6 5
6|28 & LA E= 8 1433.6 6
TER K— | KB DKER 8 1392 7
8IE=MN Bff  |FH/OBA 8 921.6 8
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K41 K42 U1sBIFERE | £ EHEEEP (2 mitmIEf:
1|dbm =% (PR BRX 1 7361.2 1
2|FE e &b EK 2 1801.6 2
3|FER =B | —TE 4 1840 3
MFEZZA |BEZE 4 1070.4 4
51IRT % B 1F 8 2852.8 5
6| A7E IR |FHENE 8 2086 6
7|BEA b | =S 8 1232.8 7
B|1EA ERE |HEF RxE 8 1187.2 8




